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Instructions to the candidates :

1. %m—uﬂﬁ?ﬁauﬁwﬁanﬁqﬁ@méﬁ%lwmzﬁsw
§ el faeeg T

This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 8 have an internal choice.

9. W-UF # A 3 300 § qw1 fruifa wmw 3 62 ¥ 1 ARk s=en W€ <wiAn WA

g, d A el & o7 TEH E | WA & Sw sd! WeEm ° fo@ W arfen feen

I 3O QY Eed-ud H fear & | fodi o1 W ° for@ 1 3 W G

3 g THerm 1| /YT UTe WY & ™ T | WA-UA % 3TER @ UvHl &

T FAER 3, TF @ W F At 9 @ W ofEd w9 4w 99 8 e

S8 qU e W™ AT WAl & IW A T S | gden W "WE herderel w©
smam 4 famn o wedr g, 9af=fre T8 |

12(1) P.T.O.
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The total number of marks of the question paper is 300 and the time allotted
1s 3 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer 1s written
in any other medium: All the five questions must be answered. Questions
shoﬁld be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Regular calculator alone can be used in the exam, not the

scientific one.

3. UYY Wyd o I90F 2 famd 20 wHEd w¥d I TEF F IW T FGA QA
gickadl | S B |

The first question will be of short answer type consisting of 20 compulsory

questions. Each one is to be answered in one or fwo lines.
4, @ v WA G R T IR AT UleH B

Wherever word limit has been given, it must be adhered to.

5. gfz fRd wva H R YER H1 S YU A1 GRS FER ! AE B, a1 W ®
el aur S TYR H | IS TR AMSH THET &AM |
In case there is any error of printing or factual nature, then out of the Hindi

and English versions of the question, the English version will be treated as

standard.

M1212012 12(1)



How is the liability of List ‘B’ contributories determined ?

(B) ey Im w1 # fau olww fafrifee dt #1 o frg wer &1 St
g ?

What is meant by Intrinsic Value of Shares ?
D) FfH @ F Fd 1 =ww R
- Describe any three examples of Agricultural Income.
(E) TTH.-14 & I0fa wHhiew &t 7@t sEyron #) 'H'H'ﬂﬁ"?filz
Explain the new concept of Amalgation as per AS-14.

(F) e qAfwin #t qe fadwad 71 & 2

What are the essential features of Internal reconstruction ?

M1212012 12(1) P.T.O.
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(G) vAM @G fafy &1 g fovedd = g 7
What are the salient features of standard costing 7
(H) S=R-fea &Y =1 § 7

What 1s inter-process profit 7

(I) ra fagsu &1 fafy=s g 1 fafag |
Write the various techniques of cost control.
() wR-famx fag w1 ¥ WEw ® 2
What is the importance of Break-even Point 7
(K) Wi & T@UT & &Y § Iha® & Fdodl & Joa@ SIS |
Describe the duties of Auditor regarding verification of Stock.
L) sdgs fOd & TifE w0 % TE SO0 F SeeE H

Describe the main reasons for qualifying the Auditor's Report.

M) oew e # wam 63 9 e ‘w dw Sfed’ Wl @ e T
FIfT |

fixplain the significance of the term ‘True and Fair’ used in Audit

Report.

M1212012 12(1)
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(P)

(Q)

(R)

M1212012

Mr. Pranjal is getting a pension of 2 8,000 per month from a company.
During the previous year he got his three-fourth pension commuted

and received ¥ 7,20,000. Compute the exempted amount assuming if

he also received gratuity.

Explain clearly the deductions that are expressly allowed in computing

the income from Businéss Under the Indian Income Tax Act, 1961.
HIFL SUMIH & T8 H-T 3T &1 W% FY q oqeq S |
Discuss clearly the ‘Exempted Income’ under the Income Tax Act.
ol &1 SE % fafv= s = fade w9 .1

Discuss the various bases of testing skewness.

SYIFT HT WG K qATHE ST w1 s s

Discuss the comparative usefulness of the measures of dispersion.

12(1) P.T.O.
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S = F= fwms A fF7 vhygol =t ofd +1 s =t I & 2

What tests is a good index number expected to satisfy ?
(T) W Fg=Y o & ¥ F Fa5d |
Give the formula of computing concurrent coefficient of correlation.

2. 3= WEA@ w3 2009, 2010, 2011 991 2012 H FHA: T 6,000, T 12,000,
T 13,000 aen T 17,000 e fFu 1wt +1 oiwa IS fafsam 2 50,000 T |
fafam w @ vam 129 afts ® aw Sfaw Wifraw 3% gonfim & 1 s | n
Fof B ol @ ofgm B 3 9 B B B AR W FWA H @l w1 gewEA
sifsg | “afueny F1 e fafy” qa “defeen fafy” gro off enfe 2 79 =t
o Fwifew | ag Wi R o d g g ® S@@ @rl 3 2 500 Wi
oo § forran @ fear ¥ | 60

Indira Radio Company earned profit of T 6,000, ¥ 12,000, ¥ 13,000 and
X 17,000 during 2009, 2010, 2011 and 2012 respectively. The company has
average capital investment of ¥ 50,000. Net rate of return on Investment is
12% and risk prém.ium expected is 3%., Calculate the value of qudwill of

the company based on 3 years purchase of average profit of last four years.

Also calculate goodwill by “Capitalisation of Super Profit Method” and
“Capitalisation Method”. Assume that Landiord has decided to increase the
rent of Premises (in which the company is situated) by T 500 p.a.

M1212012 12(1)
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Haar
(Or)

UF FX A X a0 Y & 90 & 99 G-y TF w1 T R 96T B
2Rl I e T

N =30, 2X =120, 2X2 =600, Y = 90, 2. Y2 = 250, 2 XY = 356

, - , X : 8 12
Wﬁaﬁ%mﬂgwmﬁmﬁaw—ﬂﬂﬁ%w fa forg
Y : 10, 7
X : 8 10 | .
ﬂ,mﬂﬁqu . ﬁlxaﬂ?Y%nwm—mwmﬁ%‘Tn@
. 12,
ffaa

A computer, while calculating the correlation coefficient between the variables

X and Y, obtained the following constants :
N =30, 2X = 120, X X2 = 600, 2Y = 90, 2 Y2 = 250, > XY = 356,

It was however, later discovered at the time of checking that it had

X : 8§ 12
copied down two pairs of observation as while the correct
Y : 10, 7
X : 8, 10
values were . Obtain the correct value of correlation coefficient
Y : 12 8

between X and Y.

M1212012 12(1) P.T.O.
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F EVTET & HEHA ‘%wiumaﬁiwéiwmﬁﬁmmﬁ%i

- i e R : P - ~ - - -t =,
oy gerE] &1 ST fEE A FOTAQ JET

60

nrde SEifTEn, wde waiaAn, adl Hieggo] |

You are auditing the accounts of first year of a company after incorporation.

For what purpose you would consult the following documents :

Memorandum of Association. Articles of Association, and Prospectus.

HAAT

f faferdi &1 v« HIAT |

What are the financial and non-financial considerations 1n Management

decision-making ? Discuss the new 2ids to such a decision-making.

“Index Numbers are devices for measuring differences in the magnitude of

a group of related variables.” Discuss this statement and point out the important

nses of Index Numbers.

Miz212012 12(1)
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HAAT

(Or)

H TR F e fAemw U o a s wE e T 99 9013.14 5 fru

~H

(1) 991 ¥mik 9 o (TDS @ 109 3.00,000
(2)  ErHeRTe ﬁ‘ﬁ Y (3Thfera) 2,00.000
(3) ™I & TAIR F AN . 8,00,000
(4) O |9 JIFG (FFA) _ 80,000
5) & FN 313 40,000
(6) T Ve =g fU U wmw W o= W e 30,000

From the following particulars of Mr. Narendra, calculate his total income

-and tax payable by him for the assessment yvear 2013-14

g
(1) Rent from let out property (TDS @ 10%) 3,00,000
(2) Long-term capital gains (computed) 2,000,000

M1212012 12(1) | P.T.0.
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(3) Profit from own business 8,00,000
(4)  Income from lottery (Gross) 80,000
40,000

(5) Net agricultural income
(6) Payment of interest on Loan taken for higher education 30,OOOI
frfofer 3 @ B 4 (@) W s @mum 200 el H dfwa feoforl
fataT - 15x4=60
Write short notes in 200 words each on any 4 (four) of the following :
(i) PremE BN Tl & = @ W ofn ¥ few wA 9 feafa 1w S
??
In what order the money realised from assets is distributed by the
liquidator ?
(i) @umﬁaﬁzﬁﬁﬁﬂmﬁwaaw% ?
What are the essential of an effective Budgetary Control System ?

(iii) ﬁﬁ@mﬂﬁ%aﬂtﬁzﬂ@q@mﬁmﬂﬁ% -

“Auditor is not a valuer and Balance Sheet is not a valuation

statement.” Discuss this statement.

M1212012 12(1)



What enquiries regarding audit procedure should an auditor make before

actually commencing work of audit after appointment ?
(v) g Y F F-Yad ® Ty § 3 e ¥ 7

What are the rules regarding Tax Exemption of Capital Gains ?

(vi) “dAifEEERr M w1 fagE § 1 faaEE =R

“Statistics is the science of averages.” Explain.

M1212012 12(1)
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Instructions to the candidates :

1. wm—wﬁ@ﬁW%:MW$Wéﬁ%|’Wﬁ2@5ﬂ$
4 orafie fased §

This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.

Tv9-T3 & HA 3 300 § qur fuifa wwg 3 w2 ¥ 1 IR e @ A T
T d |t wYEl & ok 9HH § 1 UYAl & I 39 HieH | fo@ | "ifgn TSy
=79 WO A9y oTeA-U3 H fEm ¥ ) Rl ot mem f foe TR ST W OBR
% TF fgepm | 9l ufe WvH G e § 1 UE-UA & FJER Bl Ue @
=7 FEEER §, T @ 9 & fafg= wml & Sw e w6 8w Wy @ fae
T8 9w T a9 WY & Iw A fow 9@ 1 9dan H 9m hagael
Tqam B e W G9Ed §, ORi=ieEd A8 |

12(2) P.T.0O.
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The total number of marks of the question paper is 300 and the time allotted

is 8 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer is written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Reguiar calculator alone can be used in the exam, not the

scientific one.

waagﬁﬂﬂﬁﬂﬂfmﬁzoaﬁmﬁwﬁﬁ | W o1 I ek YAl
gfeadl |# <A1 & !

The first question will be of short answer type consisting of 20 compulsory

questions. Each one is to be answered in one or two lines.
et v O @ e ¥ IEE oEyd YoM W |

Wherever word limit has been given, it must be adhered to.

afz frdt wee § BRd WER S #1E TE0 A9 qeAeHE YRR H AR F, W WA B
felt qen oSl ®OR H A TS T TS HAT SEAW ) |
In case there is any error of printing or factual nature, then out of the Hinai

and English versions of the question, the English version will be treatead as

standard.

M 1222012 ' 12(2)
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ﬁ#@ﬂﬁfﬁﬁ%ﬂﬁﬁm1mzﬁﬁﬁﬁﬁﬁﬁq: 20x3=60

Answer the following short answer type questions in 1 or 2 lines each
A)  TEST F HAUROT F 8§ 7

What is the concept of Management 7
By T faeH w=n %7

What is Strategic Planning ?

What 1s Corﬁorate Planning 7
(B) gmfes fofa a3 & 7
What is Strategic Decision ?
F)  oF wifdn ¥ omue Foaead ' 7
What do you mean by Brain Storming ?

(G) Wt‘ﬁﬁ?ﬂmwmﬁ%?

What is the meaning of optimum capital structure ?

M1222012 | 12(2) P.T.O.
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.

(1) TR ¥ e FoAaegd 77
What do vou mean by .Motivation 7
R R R
(1) =heg 3 1,00,000
(b) TR T 50,000
(c)  MEMFT T 20,000
() IR T 40.000
(e)  TFER X 35,000
() —am Hlafahs T 25,000 !
Calculate the working capital :
(a) Stock ¥ 1,00,000
(b)  Debtors T 50,000
(¢) Investments T 20,000
(d) Debentures ¥ 40,000
(e) Creditors ¥ 35,000

(A  Bank overdraft ¥ 25,000.

M1222012 12(2)
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What is Marketing Strategy 7

(K) &7 ZraA9e a9l T SeEdd w1 A9 Td Hee ERIEC N

Explain the meaning and importance of liquidity Reserve Ratio and

Cash Reserve Ratio.

'h-,_-i

Ly fafaa9 &1 =19 TER & a9 0 Hed |

Role of disinvestment in the Budgét of Central Government.
(M) waw fafg == & 7

What is Survev Method 7
(N)  Ja9r ‘;FFE'T?TUT G2

What is Induction Training 7
©) e fAuRo = %7

What is Merit Rating ?

(P) et fomwe w0 g 7

What is Industrial Dispute ?

Q) TFH faufm g del R WA 9 YSHE Hd B 7
How do stock markets provide liquidity to equity capital ?

M1222012 12(2) . P.T.O.



Ry foug 9@ =1 & 7
What is Financial Planning ?
(S) N fadgmT = T 2
What is Lease Financing ?
(T) wHa g@eR fgem =1 § 2
What is Human Resource Planning ?

2 Wﬁﬂ%WﬁﬂﬂW%?Wﬂ?ﬁ%ﬂﬁW%W@@ﬁ

FifsTa | _ 30+30=60

What 1s the difference between Management and Administration ? Evaluate

the contribution of Henry Fayol in Management.

HAAT

ICTeL0 Y THIMEY | 60

How would you calculate the cost of debt capital, equity capital and retained

earnings 7 Explain with examples.

M1222012 12(2)



{

Ao S B ey § 7 T agl e & i fegmar ol faa=m
15+45=60

FST |
Why is Motivation important 1n organisations ? Discuss Maslow’s and

Herzberg’s theories of motivation.

AT

(Or)

ﬁwmﬂmwwﬁ%?ﬁmﬁamﬁmﬁwam%?ﬁwa%ﬂ%ﬁ
&1 fag= &S | 10+15+35=60

What do you mean by Marketing ? What is the difference between Marketing

and Selling ? Discuss the importance of Marketing.

Examine the role of Reserve Bank of India in controlling inflation, promoting

economic growth and checking the falling external value of Indian rupee.
AYAT
(Or}
foque SFHEUM F © ) ForquA STEYA ® F1 I © ? fHqUE SEEYE & B
foferdi w1 o IS | _ 10+15+35=60

What is Marketing Research ? What are the objectives of Marketing

2 Discuss the methods of conducting Marketing Research.

12(2) P.T.O.
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Fofaled ¥ F fe ur W givw feufvet fafae (wes Shaa B o

200 V=81 H 7)) | 15x4=60

Write short notes on any four of the following (approximately 200 words for

each short note)

(1)

(12)

(212)

()

(vL)

M1222012

Y99 & HGcHE OF

Functional areas of Management

ERELBEESIE

Span of control

A e & f[a9R F 99 | YA H A B F AuF hhfug
T g 2

Discuss the concept of Mutual Fund. Why Mutual Funds have not been

more pepular in India ?
aS {aHfedshio

Market Segmentation.

WRd TR &1 gy focel e Hifa 1 sra=acrs gien |fsw
Critically examine the Government of India Policy on Direct Foreign

Investment.

g & fagra |

Theories of Leadership.

12(2)



